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cin - cout -
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C, C++ —
SP3Es asly syl pGin euilgl aS ol slp
05,0 033w >> (530)9 )alac i1 @aiS y)lg |y

cin >> variable;

SP3Es asly syl pGin euilgl aS ol slp

035 Ll )
cout << variable; ;;
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JI.-'+
An old-style C++ program.
*/

#include <jiostream.h>
int maini)

{

return 0; /o

¥ A modern-style C++ program that uses
the new-style headers and a namespace.

*/

#include <icstream>

using namespace std;

int main()
{

return 0:
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#include <iostream= -
int main(){

int m;

std: :cin>>m;

std: :cout<<"m 1s:"<<m<<"‘\n":

#include <iostream=
using namespace std;
int main(){
int m;
cin=>m;
cout<<"m 1is:"<<m<<"\n";

m 15:8
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int main()

{ // shows
int m,n;

m = 88;

n = +4m;
cout << "m
m = 88;

n = mi++;
cout << "m

}

-

-

=1

pre—-increment operator
<< m<«<< ", n =" << n <<
post-increment operator

nd ++m:
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Nnamespace =—

// This DoSomething() adds it's parameters
int DoSomething(int nX, int nY)

{
}

return nx + nY;

// This DoSomething() subtracts it's parameters
int DoSomething(int nX, int nY)

{
}

#include "foo.h"
#include "goo.h"
#include <iostream=

return nX - ny;

namespace.cpp

int main()

{

using namespace std;

cout << DoSomething(4, 3); // which DoSomething will we get?
return ©;

ahmad@ubuntu:~/Courses/ITP$ g++ -Wall namespace.cpp foo.h goo.
In file included from namespace.cpp:2:

goo.h: In function ‘int DoSomething(int, int)’:
goa.h:2: error: redefinition of ‘int DoSomething(int, int)’
foo.h:2:7error: ‘int DoSomething(int, int)" previously defined
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Pretend you are the teacher of a classroom of students. For sake of example, let’s say there are two boys named “Alex”. If you were to say, “Alex got an A on his test”, which Alex are you referring to? Nobody knows, unless you have a way to disambiguate which Alex you mean. Perhaps you point at one, or use their last names. If the two Alex’s were in different classrooms, there wouldn’t be a problem — the problem is really that there are two things with the same name in the same place. And in fact, as the number of students in the classroom increase, the odds of having two students with the same first name increases exponentially.


L.ab) NAMesSpace -

namespace foo{

// This DoSomething() adds it's parame
int DoSomething(int nX, int nY)
{

return nx + nY:
} |namespace goof{

} // This DoSomething() subtracts it's parameters
int DoSomething(int nX, int nY)
{
return nx - nY;
#include }

#include _};
#include <iostream=

?lahmadéubuntu:=?Cnur5e5?ITFg++.—Wall namespace.cpp foo.h goo.h -o test

int main() ahmad@ubuntu:~/Courses/ITP$ ./test
7
. 1

: ; OO

using namespace std; 4@@%p,
‘w ” T
%

using namespace foo;
cout << DoSomething(4, 3);
cout =< '\n';

cout << goo::DoSomething(4, 3);
cout << '\n‘;

A, petury §: namespace.cpp !



Operator

Significance

bsloc glg) =—

Addition
Subraction

Multiplication
Division

Remainder

Unary Arithmetic Operators

1 += 3.

(3003 slaydlac ©

Binary Arithmetic Operators

(A slaydlec °

i"":j+2;

s Peanbp el

Operator Significance
+ - Unary sign operators
++ Increment operator
— Decrement cperator
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a t= §; ) 3 = a+5;
a *= (; Emm———) , - %6
a /= b, ) a = a/b;
a %= k; mmm————) a3 =a3%k:
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Relational Operators () LSLﬁ)j-LA-C
Operator Significance
< less than
e less than or equal to
> greater than
== feater than or equal 1o
== equal
1= unequal
-
(JLLO -
Comparison Result

5 >= 6
1.7 < 1.8
4 + 2 ==
2 % 4 1=17

s Peanbp el
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Precedence Operator
High arithmetic operators
F'Y
< <= > >=

bool flag = Index < max — 1;

<@ 10 9 amlio ¢y dpScsn < jpo < lwlao b
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iInt result;
result = length + 1 == limit;

limit O aga®d ¢ s awlas length + 1 Ll
result a Cusplb b Cuwys jsis Glg g oy, anulEs
233)3¢,-0 LIS

390 Cdie 3y U Mo Cuwl aAdsw ssc result  go

Int result;
(result = length + 1) == limit

RIS )y asall § sq,s awwlas length + 1 bl
5381 Cuws @ )Iado Culg )s .3glbgs A3AY) result
amlis Cuwys yais Bl g sqyy,.e amslis 1imit L

33)5¢,0
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length + 1 is evaluated first, then the result is compared to limit, and the value of the relational expression is assigned to the result variable. Since result is an int type, a numerical value is assigned instead of false or true, i.e. 0 for false and 1 for true.
It is quite common to assign a value before performing a comparison, and parentheses
must be used in this case.
-------------------------------
Our example stores the result of length + 1 in the variable result and then compares
this expression with limit.



csilio cslaSloc =

LogicalOperators A 5 A 85 B =
true true true true
true false false true
false true false true
false false false false

A A

true false

false true
X ¥ Logical Expression Result
1 -1 X <=y || y ==0
0 0 X > =2 & y ==
-1 0 X B& Ly
0 1 l(x+1) || y -1 >0




Precedence Operator
High arithmetic operators
F Y
< <= > >=
= l =
v
Low assignment operators

bhis sla)gsipl )s Suglgl o

gly) =—




Eﬂnt main| )

kool rez = false:
int v = 5;
rez =7 || (y = 0):

int a, b, c;
a=kb = a= 0

r
a =k =0ac= 0;

return 0O;

Q,hwﬁmUHCQQﬂ

cout << "Result of (7 v = 0)): " << res
<< endl;
cout << "Value of y: " << y << endl;

reszs = 4+4+a || ++b && ++c:;
cout << "‘n!'

<< " rez = " £ res

<< ", a =" << a

<< ", b =" << b

<< ", c =" << Cc << endl;

res = +4+a && ++b || ++c:
cout << " rez = " £ res
<< ", a=" << a
<< ", b =" << b
<< ", c =" L4 Cc << endl;

Jio =

alue of y:

rez = 1, a
res = 1.
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&

| C=a&b;

N G BOT C=a|b;

A 43 XOR

<< QD @ Cibyib = ~aj

- Cuwl) @ Cudub
C=a"b;
C=a<<?2
C=a>>1
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CCuna 1) Oybe Jwols sl b=15 g a=10 )51
C=a&Db
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SCums 1) Oybe Jiols sl b=15)51 -
C=b<<2 =

C=2*2*15=60
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If((n&4) = 0)
cout<<"Paper out!”;
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